MATH

Naune:

111

So‘ad:lf?ﬂS

WORKSHEET 2

Work in groups to answer as many problems as vou can. Ask questions if yon get stuck.,
group \ \ | yon g
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1. Simplify the expressions, using exponent. rules, leaving your answer in rational exponent. form.
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2. Expand the following expressions using the distributive property.

(a) 3(2p—35) + 2(3p - 3)
- 3(20) +3 (-5) + 2(30) +2 (-3)
= @p -19 +6p -G
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(1) (r+y+ 2152+ 20)

= ( 53'*233 + 5(52-: 25) +2(52 +2tj5

= o (52) +ac.(zg) + (53)+ 3)(29\ + 2‘(527*'2(23)
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51 +Z~’x'ﬂ +5Lj \(j 5125"'23044'7‘:5%'}'23 +5.2

Answer:

() ply =20} = 20rp + 7q)

- () +pl-26) ~2lep) -2 (7q)
= P9, -ZpC -2pC ~\ g,
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(h) 2e?(day — 5) — 8y’ + 02
- 2t (xy) +2°(-5) - SFyx At
= o o = ~\ox? - 8a? Y +oc”
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Answer:

{j) Bs + Gts(r + 5t) + Hr(2s — 3)(2s + 3)
= 55+ 665() Arecs(sc\ x 5c(%=-
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3. Factorise the following expressions.

(a) % = y?

(b} w8 - 24

7 2
= (%) - (27)

(€) w? + 2w+ 27

(d) 8%+ —2st

- 51— 25&'?’&1

(e} 2mn — Goln + 4o

Pemerer g% 32 (4-B)(ALD)

' AL2ABR = ( ﬂ+B)_f
VAR AP RY = (A-1D)

(-4 ) (x+Y)

= 2(mn-3m +2“'\ﬂ%)
= 2m(n—3mn+2mn1)

= 20mal) =3 + Amn)
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(1) Spy — 10pg + 15p
= 5(P% - qu,—r'BP)
= 5p(pq.-29+3)
Sp(P%-29 +3)
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The End.



